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English Version
Answer any six : [6x5]
a) What is meant by 'distribution of terms'? Which term is distributed in which proposition?
b) What is the difference between sentence and proposition?
c) Explain with example, 'The fallacy of denying the antecedent'.
d) State the 'exclusive' and 'non-exclusive' sense of ‘or'.
e) Give symbolic form of following sentences. [5x1]
1) Itis not that both Iran and Lybya raise the price of oil.
i) A'is the necessary cause of B.
iii) If it rains then if the college ramains closed then there will be no class.
iv) If and only if A then B.
v) P,if Q.
f) Make distinction between material implication and logical implication.
g) Distinguish between material equivalence and logical equivalence.
h) How does argument by analogy differ from induction by simple enumeration?
1)  What is the difference between scientific induction and unscientific induction?
Answer any three : [3%15]
a) i) What is opposition of propositions? [3]
if) Distinguish between contrary and contradictory terms. [4]
iii) Can an'A' proposition be simply converted? [2]
iv) Convert and obvert the following propositions : [2x3]
a) All Snakes are not poisonous.
b) Only women are eligible for the post.
c) There are no black swans.
b) What is existential import? Write the Boolean interpretation of categorical propositions. [8+7]
C) i) Translate each of the following into Standard form, name its figure and mood, test its
validity by Venn diagram and if it is invalid, name the fallacy it commits. [3%x4]
a) All Hegelians are idealists. Some idealists are not theists. So some theists are not
Hegelians.
b) He cannot be Aryan for he is not a Hindu and only Aryans are Hindus.
c) No enthymems are complete, so this argument is incomplete.
i) What is dilemma? Give an example of it. [2+1]
d) Test the validity of the following arguments by truth table method. [3x5]
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e) Discuss the criteria used for the appraisal of analogical arguments. [15]
f)  Explain Mill's Joint Method of Agreement and Difference. Is this method satisfactory? [8+7]
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